Additional file 1. Distribution map of the randomness test of sequence reads in P.

octandrus..

Percent of Reads
>
1

o
o
|

0.0 —

T T T T
50 75 100

Relative Position in Genes(5'-3")

o -
n
a

=)
1

Percent of Reads
&
1

0.0 =

I I I I
50 75 100

Relative Position in Genes(5'-3')

O -
n
o

=}
1

Percent of Reads
o
(5]
1

0.0 —

T T I
25 50 75 100

Relative Position in Genes(5'-3')

T1

T2

T3



Percent of Reads

Percent of Reads

Percent of Reads

Percent of Reads

1.5 =
1.0 =
0.5 =
0.0 =
T T T T T
0 25 50 75 100
Relative Position in Genes(5'-3")
1.5 =
1.0 =
0.5 =
0.0 =
T T T T T
0 25 50 75 100
Relative Position in Genes(5'-3")
1.5 =
1.0 =
0.5 =
0.0 =
T T T T T
0 25 50 75 100
Relative Position in Genes(5'-3")
1.5 =
1.0 =
0.5 =
0.0 =
T T T T T
0 25 50 75 100

Relative Position in Genes(5'-3)

T4

T5

T6

17



Percent of Reads Percent of Reads

Percent of Reads

Percent of Reads

0.5 =

0.0 —

T T T T
25 50 75 100
Relative Position in Genes(5'-3")

=l

-
o
1

14
o
1

0.0 =

T T T
25 50 75 100
Relative Position in Genes(5'-3)

O -

-
o
1

14
o
1

0.0 =

T T T
25 50 75 100
Relative Position in Genes(5'-3)

O -

=)
1

o
o
1

0.0 —

=l

Relative Position in Genes(5'-3")

25 50 75 100

T8

T9

T10

T11



Percent of Reads

o -
o o
1 1

Percent of Reads

o 7
o o
1 1

Percent of Reads

Percent of Reads

0.0 =

I I I
25 50 75 100

Relative Position in Genes(5'-3) T12

0.0 —

T T T T
25 50 75 100

Relative Position in Genes(5'-3') T13

O -

0.5 =

0.0 —

T T T T
25 50 75 100

Relative Position in Genes(5'-3') T14

O -

0.5 =

0.0 =

I I I
25 50 75 100

Relative Position in Genes(5'-3') T15



